

UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: **000-864-006-00004** BY: 32 DATE: 10/12/23

UPLB BAC SECRETARIAT

OCT 16 2023 - TIL

UPLB-RQ- 10 · 437 · 23 -QCODS DEADLNE OF SUBMISSION

Request for Quotation/ Bid Form (Technical Specifications) <u>DEPARTMENT OF HUMAN KINETICS</u>

J	P	L	В	-	3	Q	-	

DEADLINE OF SUBMISSION:

Suppliers Name:	Date	10.02.2023		
	Fund Code:	9383411 (TOSF)		
	MOP:	Small Value Procurement		
	Contact No:	(049) 536 2534		
	Contact	Rowena D. Cardenas		
	Person			

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

Note:

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- 2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
- 3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
- 4. Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
- 5. Quotations exceeding the Appoved Budget for Contract shall be rejected.
- 6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation
- 7. Others: _____

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICAT ION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATIO N (Leave this space blank. For BAC/ Evaluators only)
1	Gloves	Branded and Brand new Baseball Catcher Gloves Left Handed Back: Conventional Fit: Standard Level: Adult Lining: Pro Micro Padding: Zero Shock Palm Pad Player Break-In: 20 Shell: Quality, Full-Grain Leather Sport: Baseball Throwing Hand: Left Usage: Gloves Web: 1-Piece Solid Age Group: Adult Recreational Size 33" Materials: full-grain oiled leather	рс	2	6,900.00	13,800.00				

2	Gloves	Branded and Brand new Baseball Catcher Gloves Right Handed Back: Conventional Fit: Standard Level: Adult Lining: Pro Micro Padding: Zero Shock Palm Pad Player Break-In: 20 Shell: Quality, Full-Grain Leather Sport: Baseball Throwing Hand: Right Usage: Gloves Web: 1-Piece Solid Age Group: Adult Recreational Size 33" Materials: full-grain oiled leather	рс	2	6,900.00	13,800.00		
3	Gloves	Branded and Brand new Baseball Fielder Gloves Left Hand:Left Sport: Baseball Back:Conventional Player Break-In:10 Lining:Padded finger back linings Padding: Zero Shock™ palm pad Shell: Full-grain oiled shell leather Size: 11.75in / 12in	рс	2	6,900.00	13,800.00		
4	Gloves	Branded and Brand new Baseball Fielder Gloves Right Hand: Right Sport: Baseball Back:Conventional Player Break-In: 10 Lining:Padded finger back linings Padding: Zero Shock TM palm pad Shell: Full-grain oiled shell leather Size: 11.75in / 12in	рс	2	6,900.00	13,800.00		
5	Bat	Branded and Brand new Baseball Bat 1-Piece Bat Construction Acoustic Aluminum Alloy Barrel & Handle Comp-Lite Composite End Cap Balanced Swing Weight 2 5/8" Barrel Diameter -10oz Length to Weight Ratio USA Baseball Stamp of Approval Legal for Pony, Little League, AABC, Babe Ruth, Cal Ripken, & Dixie	pc	2	10,500.00	21,000.00		
6	Ball	Branded and Brand new Baseball Ball Filling: wool&rubber cork core Surface Material: Leather Packaged included: 12pc/box Material: Synthetic leather Color: White Dimension: 9 in. 5 0z Packaged Dimension: 31 x 24 x 8cm Packaged weight: 2kg Cushioned cork center Yarm wound center Full grain synthetic leather cover High good quality 100% authentic brand new	box	2	9,000.00	18,000.00		
7	Gloves	Branded and Brand new Fast Pitch Softball Catcher Gloves Left Handed 34 Inch Circumference Fastpitch Softball Specific Patterns Flex Loop Conventional Back Full Grain Leather Construction Leather Laces Zero Shock Palm Pad	pc	2	4,600.00	9,200.00		
8	Gloves	Branded and Brand new Fast Pitch Softball Catcher Gloves Right Handed 34 Inch Circumference Fastpitch Softball Specific Patterns Flex Loop Conventional Back Full Grain Leather Construction Leather Laces Zero Shock Palm Pad	рс	2	4,600.00	9,200.00		

9	Gloves	Branded and Brand new Fast Pitch Softball Fielder Gloves Right handed Shell: Quality, Full-Grain Leather Narrow hand-spread design and deep pockets Velero hand adjustments Palm pads for added hand protection and comfort 11.5" utility pattern Woven web Hinged conventional back with custom-fitting Velero strap	pc	2	3,500.00	7,000.00				
10	Gloves	Branded and Brand new Fast Pitch Softball Fielder Gloves Left Handed Shell: Quality, Full-Grain Leather Narrow hand-spread design and deep pockets Velero hand adjustments Palm pads for added hand protection and comfort 11.5" utility pattern Woven web Hinged conventional back with custom-fitting Velero strap	рс	2	3,500.00	7,000.00				
11	Bat	Softball Bat Barrel Diameter: 2 1/4 in Certification: All Association Drop: -10 End: Concave End Cap Frame: 1-Piece Aluminum Grip: All-Sports Grip Handle: Ultra-Thin 29/32" Handle Material: Alloy Series: Diamond Gem	рс	2	7,500.00	15,000.00				
12	Ball	Softball Ball Synthetic Leather Size - 12" Color: Optic Yellow Stitch - Red COR47 Compression Maximum - 375 lbs.	pc	24	650.00	15,600.00				
13	Chess Mats	Branded and Brand new Chess Mats Complete set of 32 chess pieces King = 3 3/4" tall, 1 1/2" base, and 27g I lb plastic set Felt paper base Basic Vinyl Chessboard (20"): Basic vinyl chess board Chessboard measures 20" by 20" 2 1/4" squares Clear and legible algebraic notation Each set comes with one set of 32 pieces, one board, and one bag (colors refer to board and matching bag.)	set	20	600.00	12,000.00				
			l			169,200.00				
							TOTAL QU	OTED AMO	OUNT IN WO	RDS:

Reviewed and Checked By:

BRENDAN OHN C. MAGANA BAC TWG

Please quote at your government price (including VAT) and state that the time within which you can make delivery. It will be appreciated if we can have your quotation in the office as soon as possible on or before the deadline stated necein.

ROWENAD. CARDENAS BUYER/ END-USER

TERMS AND CONDITIONS:

- 1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.
- 2. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by End-user of the delivered supplies.
- 3. Delivery period within 19 calendar days.
- 4. Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other terms and condition stated herein
- 5. UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.
- 6. Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representative/s.

Requirements for Suppliers (GPPB Resolution No. 21-2017)

	REQUIREMENTS	Shopping	Negotiated	Negotiated	Negotiated	Negotiated
1		(Section 52)	Procurement-	Procurement-	Procurement-	Procurement-
1		,	Small Value	Lease of Real	Scientific,	Emergency
		1	Procurement	Property or	Scholarly or	(Section
1			(Section 53.9)	Venue (Section	Artistic	53.2)

Mayor's/Business Permit	/	/	/	/	/
PhilGEPS Registration Number	/	/	/	/	/
Professional license/ CV (consulting services)		/		/	
PCAB License (for Infrastructure)		/			
Income / Business tax returns (except for government agencies as lessor)		FOR ABC'S ABOVE 500K	/	/	FOR ABC'S ABOVE 50K
Omnibus Sworn Statement		FOR ABC'S ABOVE 50K			FOR ABC'S ABOVE 500K
NFCC for Infrastructure with ABC above Ph500k		/			FOR ABC'S ABOVE 50K

After having carefully read and accepted your General Conditions, I/We quote you on the Item at prices noted above.

Tel. No. :
Fax No. :
Email Address:
Date: